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180 & AQlE5l5tHA?
@ 2x33x5 @ 2¢ x5 @ 3*x5
®)22x32x5 ® 2x3x52

o 180=2"x3"x5
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D)2, 3, 11 @ 1,2 3, 11 ® 22, 11

@ 23,3, 11 ® 2, 3,5, 11

264 =23 x3x 11




@® 80 @ 90 ® 216 @ 168

(@)180

D80 =2*x5

L (4+1)x(1+1)=10(7h)
@90=2x32x5

(141D x(2+1)x(1+1)=12(70)
® 216 =23 x 33

w (3+1)x(3+1)=16("h)

@ 168 =23x3x7

© B4+ xA+1)x(1+1)=16(7N)
® 180 =22 x 32 x5

24D x2+1)x(1+1) =18(70)
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@ 70 @75 ® 80 @ 85 ® 90

A=8x9+3=175




6. TS F 452 e ALY

@D 4x5 @ 4+44+4+444
@ 5x5x5x%x5 @4x4x4x4x4
® 5x4

Adx4x4dx4dx4=45 o[t}
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600 =a*x b’ xc¢ 2 AJFENE W, (a+b+c)x (x+y+2z) 2
H2? (Fa<b<o)

@ 12 @ 24 ® 36 @ 48 @60

600 = 23 x3x 5% =a* x b’ x ¢ °|B2
a=2,b=3,c=5 x=3,y=1,z=2
w(a+b+c)x(x+y+z) = (2+3+5)x(3+1+2) = 10x6 = 60
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32x5x7 o AAga & FSHH ©f
o] H&g2?

D 5 @7 ® 15 @ 21 ®)35

32x5xTxa 7} o1 @ AA%0] A B 47} Hel 32 x5xTxa B
AQSEAHE 1) 7 £915:9] 57} Bofof T}, whatA]
REsle AA% ¢ o] H2ZHE 5x7 = 35 oIk,




10. 288 & oW 4 x 2 Lol 5o AlFol w7 sheln & o, 71y
A2 A% x & Pohel?

288 = 25 x 32
748 22 A x = 20t




11. A5 3¢ x 51 x 7° 9] oF4=9] 7|27} 120 o[t ofm, a o] gh2?

@1 @ 2 @3 @ 4 ® 5

(a+1)4+1)(5+1) =120
a+1=4
La=3




<k

N

il

Zho1 MG w, [ et

25

)4 ® 9 @ 16

D1

<t
Il
o
[N}
A
4
= B
+ ~
QURNN
x
— o
s
e N
0
=K
z 5
Z o=
I
—
(a\]




13. o] AA% o, 2 & a4} by olejst n of 7ho] L
n

® 20 @ 21 ® 33 @39 ® 49

189 °kp=1, 2, 3, 6, 9, 180°|t}.
wEbA] n O] O 2 14+24+34+6+94 18 =39
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@ 9 = 35 o ot

© 12 BE Aaso] vjg-oltt,

© 62 A7) ZpAdo] ofa=2l FAl o] 4ol Tt
® 392 & 4 9] HjolTt,

@ 36 9 oF59] A= 8 AHelTh

060 066 00e 006 Oee

©. BE AA4E A7) AAle] p4el Bl Hldolc,

®. 392 = 4 9 Hjg=o|rh.




15. thg % 39 vt obd 212

® 129 @ 672 ® 501 @ 342 (@)781

39] v 7+ 2p2] 9] 5:2to] gl 39 HjSrolct,
®7+8+1=16-239 vj57F of B2 7812 3 9] Hj4=7F
optt,




16.

36 = 729 & o]&5}a] 729 — 35 — 3¢ = 243 & PESI= AL g
e FohH?

D1 @ 2 ® 3 @ 4 ®)5

36 = 729 o] 35 = 243 o]},
whbA] 729 — 243 — 3¢ = 243, 3¢ = 243 0| & g = 5 ©]|t}.




1x2x4x5%x10%x20=2%x%x3"x5¢

@o @ 1 ® 4 @ 6 ® 8

I1X2x(2x2)x5X(2x5)x (2x2x5)=20x30%x53
T a=6,b=0,c=3
L 6x0x3=0




18.

1 2] 200 717] 9] A4eA4= Zo)| 4] ofZ=0] 7|47 37Q] G B
9 A7

@ 574 @67H @ 7 @ 87 ® 97

~&B

=
T

A4 n 9] oF4=9] 747} 3 7Ho]7] flaliAl=
13 n 0194011 oF=7} gk 7f4t B QlojofstE =
AtAS n 2 4249 A F4Eo] oo ghrt,
wrabA 1 FE 200 7H2] 9] LA G545 ot
132 = 169 < 200 ©] 1L 172 = 289 > 200 °]| B2
200 ool A=) A TS =

2232 52 72 112, 132 o]t}




19. Adsab
O

® 35 @ 170 ® 105 @ 140 (@)180

5xa="T7xb=c? oA
(5% 7)% = 352
Tx(22x52x7)=(2x5x7)% =702
7x(32x52x7) = (3x5x7)% =105
7Tx (42x52x7) = (4x5x7)% = 1402

m2hbA ¢ of gho g 7Rt A2 35,70,105, 140, - - - ]

1)a=>56x7?,b=52x7TA W, 5x(5x7)=7x(52%x7) =
1)a=22x5x72 b=22x52x7L W, 5x(22x5x7?) =
)a=32x5x 72 ,b=3x52x7 Y, 5x(32x5x7?%) =

V)a=42x5xT7?  b=42x52x7 4w 5x (42x5x7%) =




20. 720 9] F7t opd A2?

@ 25%x3x5 @ 2x5 ® 32x5

@2 x5 ® 2x3°

720 = 2* x 32 x 50| B2 720 9] = (24 9] F)x(32 9] ¢F
+)x(59] oF) oltt.




